DR. JOHANNES HEIDENHAIN GmbH - Technical support, measuring systems € +49 8669 31-3104 - E-mail: service.ms-support@heidenhain.de

\ = VTR
A Mels e FESHAOF gLk Mounting Instructions
HfIEHRAE
LaIEE
ZEIEEF M
R RNES

+ | RCN 5x11
! Absolute angle encoder
77V)a—rBEIYI—4

Disassembly tool (for adapter cable)

BUNALIET A T2 —7 V) %ﬁggﬁ%ﬁ
RETE (BT EREY) Haz e b ola e
FETE (EsRsssm) ME2E W A

=3 =TI HE #0/=8)

1307427-00~A-02 - Printed in Germany 07/2020

Warnings - —fi#153R - —RREE - —R&EH - Y HHE

RCN 5311 Accessories are to be ordered separately:
& RCN 5511 —aal RIS AR RS LT oL

Note: Mounting and commissioning is to be conducted by a qualified specialist under compliance with local safety regulations.
A Do not engage or disengage any connections while under power.
Encoders that have contributed to the failure of a safety function in the application are to be returned to HEIDENHAIN Traunreut.
Encoders are to be repaired exclusively by trained HEIDENHAIN technicians.
Avoid direct contact of aggressive media (such as organic solvents for cleaning) with the encoder and connector.
Do not clean the encoder with organic solvents like thinners, alcohol, or benzene.
Mounting surfaces must be clean and free of burrs. Thread surfaces must be secured with materially bonding thread-locking fluid.

In case of replacement, recut the threads and use new spring pins (when shaft connection is on the face side) and new screws with materially bonding anti-rotation lock!

AE:

S R UREEISSRBEE DR ERENDEE TEERDEFIRICKIRIET BLIICLTIIEETLY,

ERE ANTCEE TORERBOEIFIFPEINLETOENWTETL,

TT)r =23 THREREDRBEICES LTI T aA—RIEINATVINA VDR A YR GRIELTLEEL,
IO—2DEEBIE L —Z V7B TN TV INA Y DFEMEUND T THEWNTEE A,
IVO—AEOARTASEENDBVYECERBERSEEE) ICEEMNEVELSICLTIEEL,
IYO—AEIMTEIGEE TN\ EVESICLTLET L, RUIEEH EDEEREFERLTERELTLEEL,
T 2HEIE R LAV GE LT HRDEHEIEBEEENTRCAEERLTIEEL,

RO EEDBRN DD DT T ) r— 3> v 7 M@ COBRIFIFHICHLWRA T 7 EV ZFERLTIZEL,
FE:

ZEMBNNVAFE SR ERHBEEERNT WA RIRE,

THERAY, TEENERE T EEEL.

WNSRR AP RIBE ML RIS IR, VG RIEEE R EEBEIEER.

IRIDEE RBEHIBEINISTAARIEE,

PRSI L BRI R (BIiEERAIBIET) .

TERMWRTEETHATER. IRSFNRE /AR EEFIEE,

MRFEFR, EFINTIRSGTETIHAEETIATHIRE.

%I*KLWE&BEBHFE@MEE: IEEBRAHES PR REEEH.

TR

LHEARBRETMERLBERBEEEMNEEASIEELRTEEM LD REEK -

EERRMB 7 EZEI I ER -

BB ERERPZ RN EN N ERERE®EZE Traunreut -
HEBRARFBEFIRNEEZENATINRIMASETHE -

B RIS IR E I BRI E (2B RANEAT) -

ZERANBBEEANEELE - BANB4ZAMNMSBAEERET -

EEBROERT - SRS E RS RS EE A 1844 -

Z;J’Emaﬁzllﬁﬁﬂiﬂ%ﬁﬁ D BEEEH AR EmES -

=

MK S AHOM Y2 HX| O 780 et R ME7H7F A AlSofF gL C

HZASIALE 22[HX] O A2,

tE S o g&8

A & ¢ 7|5 270 /0| £l= AIE = SHO|HBHRI Traunreut 2 =7 & L|C}.

ANIACE =E S}O|ESHR 7| ZAH2 2| 3Of eFLCf.

#=d 22MAE /7] M 5)0| ARG S HHYEO| &Y YHSK HES YA

A BH2 THRSID FIIE2 £20| §IOjOoF ehLCH LEARM 81 LiA= A0 2ok LIAMY 1078 HK| 2 n7gs)of ehLct
LWHBHE B LIAMES CHAl E4ot HA-Y0| Jo 3| ¢X| 10| & M LIAFE AFEJHYAIR.

7IAH 1Z WA 7150 e 8= TH AIZE HEYO = M 228 TS AESHYAIR.

General Information - —fig15iR - —AR(IEE - — & - L8 R

To ensure the correct and intended operation of the encoder, adhere to the requirements of the Product Information sheet ID 1294716 (including required mating dimensions).
Recommendation: Use the PWW testing tool to inspect for proper mounting.

I2O—2HELSENET BES5IC, MaIER ID 1294716| B HMORNBEIHF ICHBGTEEL SO Lo TLEEL,
HEBE: PWW RIEZR Z BV CTELKEWUIFSNTW B MMEEL T EL,

PRRIRISRRIIERRFIAT ST TAE, LINBSFF-mRERID 1294716FMER (BRERARIMNER) .

#: APWWITR TRt ML 2R 1EH,

ZHEE EFEY HPRZRRIE R IR - BRI ERBENKRID 1294716MFBXR(B2FBNERRK) -

2 SAPWWARTE  Eaf & EELZE -

AUIBC 7t SHEA oot CHE X SoleE ME & AE ID 1294716(E 5 =28 14 X))ol 27 AL S =HAIR.
Y A g RS AT QAN PWW HIAE STE AFESHUAIL.

The encoder complies with the fundamental requirements of the standards.

IVO—Rd CNSOBEEOERBEHITERL TV, EN ISO 13849-1: 2015

ZIRBR T E XN ENIEARE K, EN 61508-2

HBRFABENELBK - EN 61800-5-2

AIACE= HE 7|2 Q7 Mg ELUCL

Dimensions in mm

STE mm

RIE8{I mm

R~ - BEfI mm

TF2(EH: mm)




Assembly - #8377 - A% - A% - =

Shaft coupling with ring nut [R] and catch [M] (with mechanical fault exclusion).
U253y FMRIEEW LESHIM] & UL F=BS RIS EE DR & 1))
HIAZB [RIFIFRMIMIROBRGHES  (FEAUSERG1P)
SIRBE[RIFFIR[M] VBB S (S M EUEEERR)

Y LER] % MHA[M] ZF MZE AEJCIAN 2 A 7|5 28

1.
13 ID 817921-02

1.2 2. 4. A\
Ax % E SW17

Mg =30 Nm=+3 Nm Inspecting: Protrusion of ring nut relative to encoder housing.
WERE VTV EDIEHELE

Gl IAAREERIDERINTERIRT .

R IRIESR H B RIS INRAIRNT -

AL AIH oo 2B BHES &K

ISO 4762-M4x40-88 || 2x o~
1SO 7092 -4-200HV
Mg =29 Nm=0.15 Nm &

13.2+0.5

u

Front-end shaft coupling (with mechanical fault exclusion).
EREANOIYT (BAREVSEDRRNE L)

IEEBRGHES (FEHUMSERG1P)

AR BB ENEE S (2 A R BERR)

HEHAMZE HEY(VIAX 28 MA 7|5 =)

1. 4x 2. A

ISO 4762 - M4x40 - 8.8
ISO 7092 - 4 — 200HV
Mg = 2.9 = 0.15 Nm

Mount spring pins S without burrs so that the slot is tangentially oriented, measuring the dimension L.
NUDIEWR TG ESEZAOY MDA LOBREAEICE DL ICERFIFTEEL,
LIJCERIRHEES, EEAam, NERTL.

EEEEZHSAZEE  NILBERIIGED - AEZRIL -

20| MM YPOR FALS SHGES YIIEL £20| gk ATY WSS BHIAL,

I z o
g b ! ISO 8752-2.5x10-St o V
?‘ ‘ For detail, see W !
i ‘ EES | Li\\sw%%ﬁﬁ Tangential slot
| LT, R HEADY b
] S BZEE, 2w ragE
THEAAE - HEREW e m e
EMsH LHE2 WE & mM 22
RSHAA| 2.
3. 4. N\
Caution: Pay attention to the position of the spring pins with respect to the spring pin holes C. To check: Measure inspection dimension Z through the M3 back-off thread.
Tighten the screws crosswise, with one-half revolution each until the tightening torque is reached. 75 M3DERIN LA N EBWTC ERZE B> THRERRL T IEELY,
BE: 27T EVDORACEBLTUER T VT E DMBICEELTEEL, wE: FARFEPANM3EZERNERNIRTZ,
BT MVIIGET BETENZTNIEEGRF T OREICRR CERHHTIEE L, LERE . BBMIBBBANSESHERIZ -
s EEHEEENRE AL CINE. Y g M3 T LIAMNE S| AL 74z ZELIC
AN mEERE, SXFEEEIATIEERE, M3
M FAER - EEHARBEEHEACHMS - e
DEiglRrEER4s  SEMEFE  HEEIEEHRT - ]

Fo|: AX2 H BCS J|F0E A2 Hol §IX|0f FOISAAS. |
LIS XY £50) SRE WK Al SR o Hof Bt RN ZeLIth |

4x
ISO 4762-M3x (L+4.5)-8.8
ISO 7092-3-200HV

Mg = 1.25 Nm£0.1 Nm 5.'
Disassembly through the two back-off threads.

20DEYHLARLRERNT RIAL T,
FIFA R ED BRI ED,

TR R AT -

WO I LI £ 42 Bof EefgrLich

Shaft coupling with ring nut [R] (without mechanical fault exclusion) | Front-end shaft coupling (without mechanical fault exclusion)
25+ FMRICKBEII T (HERAIHIEDRRAN 5 L) | BRERENDERY T (FEREISEDRRN 5 L)
HIAAREBRYERER[R] (T URETERGIF) | IEEIERERER (RHVIMSERI)

SIRBIB[RIAVEEES (R 2 M ETERR) AR EEENFE S (R 2 WA B2 HEER)

F HER] Z AZE HEJ(|IAN 1T WA 715 2AD) | Mol ApmE HEACIHE 2F HA IS 948)

Mg = 30 Nm £ 3 N
4x f'lD 336669-17 d =2 hm
IS0 4762-M4x40-8.8 (=
1SO 70924 —200HV % SW17
Md = 2.9 Nm=0.15 Nm g 1 oy

E ! g ! M3x35
° ‘ ID 530334-17

4x
ISO 4762-M3x(L+4.5)-8.8
ISO 7092-3-200HV

Mg =1.25Nm=0.1 Nm

4x

ISO 4762-M4x40-8.8
ISO 7092-4-200HV
Mg =29Nm=0.15 Nm




